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 Reasonably people might accept higher
values or 1nsist on lower ones
depending on the consequences of a
false decision 1n a given situation.
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Sample Size

Small sample size prove
nothing, large sample size prove
anything.
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Statistical vs. Clinical Significance

Example:
- |s supplement calcium reduce BP?
- 48 HT patients give 1000mg/day or not.

- Decrease SBP(5. bmmHg) and DBP(2. 3mmHg) (Both
p<0.05) after 8 weeks.

- May be an 1mportant clue to understanding the
biology of hypertension.

- The magnitude of the reduction 1s not large
enough for clinical HT treatment.

McCarron: Ann Intern Med 1985:;103:825-831
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